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Write an equivalent exponential or logarithmic function.

A8 Ko drois)leg) 9I

IdJI:u..SI

e* =30 Inx = 42 e =x In18 = x
42 x
z = |y 30 z= € 3=hx 18 = €
Write each as a single logarithm. KYV-F7 P:.:,L:;J&.z&.a&g.:,lgmilsgasl
3In2+2In4 5In3-21In9 3In6+21In9 3In5+4Inx
L S = k3
:lnf_‘_nn} '[Vl35 _\,,\9 :lné-\—\v\q =\v\5-\-\w7ctt
—
:[wi_‘.\m\é :]VlLé3X9 ) =\V\(530xq>
S
_ln (gxb) =y 31 In (216 x3)) - \nli2s )
9
’—‘ln \2.2 :/Vl (\‘-EL\qé)
- ’14 3
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Solve each equation. Round to the nearest ten-thousandth.

5¢* - 24 =16
56 - \L+2Uu
e = Mo
5
e = 8
>~ = \Ww? 2,079441542

N 2. o9y

3e3*+4=6
-3
3e = 6-4
-3
3e = 2
-3x
e = 2
3
—-3x = \V\ Z_.
3

= 0, 135155036

O 1352

In3x =8
&
Az =@
g
x - £
3
x = 993, 6526623

48

993 .6517

—4In2x = -26
—4
2;6_,_
2x - e*
26
6‘
x = _%
2
X - 332,5708165

N

322.5 %08

O Bdac o e3> 138Y W38 Aulie of Wslze JS I3
Solve each equation or inequality. Round to the nearest ten-thousandth.

In(x +5)? <6

(x43)< e6

e vs)< &
~E<x+5<5¥
-[e?—5<7<ﬁ6_-5

-25, 08553602 < Z < 15, 08553692

-25.0855< < 15.0¥58

5+e*>14

> 9
—x > 1In9
X < - 1.9

X <L

-2, 197224577

Zz < -2.19%2

SCIENCE A virus is spreading through a
computer network according to the formula

v(t) = 30e%1  where vist

he number of

computers infected and t is the time in

minutes. How long will it t
infect 10,000 computers?

ake the virus to

(t) = 30€%1 dpall Bdg Cigul> dSaid sec iy pused pole
WBBAUL G503l gn tg Gugssall Blaa)l gl 352 g U Eass

Sogawl> 10,000 dilod Gugsedll G siumw @S

o\t
\J = 3o e \v\ Vo voo = o1 &k ‘E/‘: ll‘l[
o] t fo,.,
\Yv voo= 30 ¢ \w S .
. o.)
\o voo ZM tx 5
30

1 ODOD]

30

1
58, 0914299

§-0914

A NIVN
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=
o
i

[

BugoiiielluaaSaehonshiel]

bysalh TS g dh Bl coanes

A=Pe il aseal plasal

ilgiwl) o Fas il g A Cis
s g_i_a:z{l il s Py
gl do) od) Jae ga [y

Baiunall LeSyall dnglially duolill dsall paiiwl Aol 48,20l

O9Sns 0S8 braiuano dsSro dxnsle 4.5 % By lue> § AED 800 cxessi 13] .2
SOloiaw 5 325 oludl 3 gleall

Szl JI Wlo Juag so¥l §sitiaagan oS b
Sad] zlixd 3l dxlsall Jaso Lod caloei 9 3 clllo dackin )i 13]

ey 5985 Olo 4.75 % dsausis braiuaso dsS30 dnylro Bizg il xid iyl 13].d
Saclsy] JI Uiz s gleall Lad dale 12 a2y Gzl 3 AED 10,000

_ B (#5x) ¢t r(9) («57) (2
:M‘;JCL( 4\4,:.# ZP: P < ZP: Pe ]()ng___ (-,)e ) )
rt (st 9v \
A - P e 2 - e 2 = e @ - S0o0 O
@75 2)(2)
(45 )C3) )< e
=300 € w2 = @3 x) h2 =9rv = 5655, 254387
;D
=~ 1001,858173 | — t = LS B NN LY “0
bs 9
£
= 15, 40327068 - 0,0770163534
v -
= 3.3 7

FINANCIAL LITERACY Use the formula for continuously compounded interest.

a. If you deposited AED 800 in an account paying 4.5% interest compounded continuously, how much money would be in the

account in 5 years? AED 1001.86

b. How long would it take you to double your money? about 15.4 yr

c. If you want to double your money in 9 years, what rate would you need? about 7.7%

d. If you want to open an account that pays 4.75% interest compounded continuously and have AED 10,000 in the account 12 years
after your deposit, how much would you need to deposit? about AED 5655.25




